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' COMMON ENTRANCE EXAMINATION AT 13+

R ThIS examlnatlon is 60 mmutes Iong
. All questions should be attempted

oA row of dots ..... ... denotes a space for your answer.

| working.

« | Answers given as fractions should be reduced to their lowest terms.

o|A completely correct answer may recerve no marks unless you show alf vour )
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1. Find the value of

() 9.4+682

(i) 9.4 — 6.82.

(i) 8.52 x 0.3

(iv) 8.52 + 0.3
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i' (a) The Captam s hew yacht costs £48 000

i He pays £ of the price as the first payment

. (i) How much is the first payment?

£480001 -

' S :Answer.;E- .............. e . (2

i

““The remainder is paid monthly in equal amounts over the next 24 months.

i

- (i) How much does the Captain pay each month?

Answ_er: £ o el : IRCIERGT -,

(b) Manuel uses a who!e carton to fl” 25 g!asses each w:th 140 millilitres of
orange “jaice. _ —
. How many litres d:d the carton hold when full?

b | : - ANSWEL: ... w..... - A N litres  (2)

‘The price of Marcel’s meal is £53
wa much is added as his se‘rvice charge?

Answer:£..... ° . .. {2)

536'_ _ . 3 : , v “Turn over
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. /8. {a) Vire O;S‘asapercentage.‘

- (b} White 7352 as a fraction. |

Answer: ...

(o) Wite 2 a5 a degimal, -

(d) Robin has £2.50 in his pocket.
He spends 75 pence on a bg_g_/pfmchips.‘ | :
Vhat fraction of the £2.50 does he spend on chips?

..............

....................

|
S (1)
...... e (@)
:
S Y (2)




|

|

| .
(b)

. (I o L

(a) o _ ‘ 6.16x196
| - | 427
(i) Rewrite the calculatlon shown above, givingeaéh number correct to
1 significant f:gure _ : o

AnSWGrI iy : U - X ... - .

SRR )
(ii) Find the value of your answer to part (a)(i).

ANSWER oo e (1)

It costs 9.73 pence per mne to travel on Rocket Railways.

| Estimate the cost of a 145 mile j joumey on Rocket Railways.

1

i

%

1

i

"s

t - Answer: 2(2) |
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5. (a) Cafculate the value of | ol
' ms 3x4+6 -
P

Lo

L

. Answer: ;--,o.--‘-l.-o--o--ﬂ--o., o .-..-.’-_-_-.-3”‘.-‘.5

(i) 2°

b

§
Answer: ............ rainmet | Fuemns S KL

(b) (i) Write 324 as the product of prime factors, using indices.
.

P

L

T e, T T B .

[ ke e

o (u) Hence or otherwrse calculate the square root of 324
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6. {(a)‘; Simplify
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(b) Remove the brackets and simp_!ify' |
O | 3@p-29)-4p+29)

|
1 g
|
Lo e .
T
: : Answer: sereressenaaians e aininns « LB,

(c) Factorise completely
| Bx®+2x®
v |

. ANSWET: cerveeenereimminse - — @) K
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7. When a=3 p=g e=TA T T I
o : ; ' o -
o

I

:find the value of :
() 2a+c
ANSWET, wovrseussans - A—— seecpinne {2)

(iy ab— c?

A i i 5 i B i S R

- # E
ANSWET: ververrrinenesnr eosr evessonerenns
, _ , !

i) ab=o oot AT

i
W) zac . i
b* : .. o ' i
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TO Convert ter"‘P(—:'rature from Cels;us scale (°C) to Fahrenhelt sca!e ("F)
&1 YOU multlply the Celsius temperature by and then add 32

(I) What is the Fahrenhelt equnvalent of 55 °C'?

L ANSWEE il v i F BN

) i) What is t_he Celsius equivalent of 77 °F?

1k

| An'swe_r:\ ..... SNLA. S ‘C . (3)

Ty

i
1
|
i
"
pi
i
“Th

1 e hth term of a sequence is 2n - 1
i

e “ () erte down the twelfth term of the sequence

l

B, |
a
1

o HaMe - : 28 '
AR L R A @)

) What is the valua of n when the nth term is equal to 7997

Answer:n= ... ..
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o LT s ding and funRiig:
- 10, Bons enters a tnathlon which consnsts c_)f. swumm‘_ng’ y e o

(l) He swims 2000 metres at 80 metres/manT‘e-.‘ o

How long does the sw1mm|ng take?

---------------------

(*l) He cyclesf Fa5 mmufes at 40 km/h
How far does he cycle'? PR

ANSWET: vivevenen e iy L km 2]

(m_) He cnmp|etes the 8000 m fun in hatf an hour |
At what average speed does he fun in km/h‘7

-1 U —— ek 2}
: ’ R R Fuie T 5 -

(iv)VWithourt countmg the Iength of changeover '(lmes Hatan ;
Boris’ average peed for the complete triathion in kwﬁr}f : events W hat is

i b

CANSWEr: o, e | km.“ ("‘i

caosdse BERUE



1. (@) C‘,Ompl'ete‘_the dia_gram,sfd th-'a‘t'it :s s'yrﬁfhetric'aliabdﬁt Jt‘he line AB."",,, .

(b) Complete the diagram so that it has rotational symmetry of order 4 about
~ thepointP. = . - e b 2w L Ry
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Nt (1) 0'1 the 1 cenﬂmetre square gnd thh the 5 | | D LT
.~ shape Aby scale factor2 - _ .pozm “ 10) as cewtre en%arge g ee e

- Labelthe 1mageB 5 b R A R o

(u) The area ot shapeAnsScm ' R RS T e PV I T
What is the areaof shape B’? C F 7 }\ '

Fora s _q\ ‘C.T, '."i'ff"ff“fl".‘_’ S g ""‘" Cﬂ‘l:‘ ‘-: (1) o | .

T YRR )



(2 (@) Caiclate the size of each of the angles marked a, b, ¢ and d.

Answer: a = a L e

ANSWE G i i (2)

© Answer: d = e e 1Y

k‘o) “E‘-L, is.an nsosceies tnangle wnh AB 8 cm and AC BG 6 cm

{n Qhomng yout constructson lmes draw tnangle ABC
The belt‘tDﬁ of A has been marked for you 5"

@
(u) % .easure and wnte down the size of angle ACB |
Answer' ang{e ACB — _ ' ey o ) _‘ :

S A, 2835326 - T . ,___13 @ e R T
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W-Q'14 For thzs questan you are told that g :a o : )
. // ‘ M pounds (1b) are equwalent to 5 kllograms (kg
(‘) How many k!lograms are equwalent to 55 pounds’?

7

q
o
. ﬂr k

ifg f1)

Lo reesssen

ANSWERT cearecniese

(n) On the gnd opposne draw a graph to convert pounds to'kiiograms f;{r

masses up to 55 pounds e s AT

(m) Use your graph to answer the followmg ques’uons show;ng cl driy vhere
you take your readnngs e R i
(a) The baggage a!!owance on Orbrfa! A:rways is 15 Pg RN

What is the equ:vatent mass m pounds? ) y
y :: AnSWer:_____m -77;—:::.. 1",';.;--,._'-_.‘-; """"" {t;} 'V (1) B3 -‘
(D) A pnze turkey has a mass of 48 ib ‘
What is the equivalent mass in kﬂograms'? 1
lee your answer to the nearest kllogram _: o ol :
. AnSWer : ot i ot
L i v e ,. kg “{2)
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715 Here are the fnrst three patterns ina seqﬁem With s_pace to draw tho feurth pmam
: pattem -1

pattern 3

: patterni_ 3 pattern2

. n th:s questlonv and A are smal! tnang!es.. o fa, " L i
(I) Draw pattem4 ‘ : : SR R Cad

(u) Compiete the tab!e be!ow for pattems 1 tc 4

) How many small tiangles are there in pattem 52.
e S BN o .~",:_\ns‘\\=a‘=_n "._\.';;“..'.;f......'.- ....... i A1)

g (iv) Wh%ch?rpatt.eh{_giill‘ have H}Osma‘l tﬁang!es?; '

ANSWER PAHEM. .. erireinnes - {1}

hlch pattern cives lh" Sum 0‘ me 035 numbﬂrs t.om 1 to 09 mJqua‘?

e i

(v) w

- = F @ .
‘ ° A ‘qq
D P ‘n..) :
5 g :

Anbwer pat tem..f.

(l‘ c:ai marks 1 OO)
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